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Example: Translation of Loops

Letp={a— 7,b— 8,¢— 9} and let s be the statement:

while (a>0)] {

/x (1) */

}

c =c + 1; Ax (11

Then code'® s p evaluates to:
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Iterating Statements

We only consider the loop s For this statement we define:

code while sp :

codeg fore
E jumpz
ﬂ code for s’
jump]A]]
eoe
Example: Translation of Loops
Letp={a— 7,b— 8,c+ 9} and let s be the statement:
while (3>0) { /x (i) =/
c=c+ 1; /x (1) */
a=a-b; /* (i) */
}
Then code® s p evaluates to:
i (i) (i)
| move R; Rz “ move R; Ry move R; R7
loadc R; 1 O | loade R4 1 move R;+1 Rg
er R Ri Riv1 | |[add Ri Ri Rixi|  |sub Ri Ri Rita |
jumpz R,; move 9 R; move R7 R;
jump 4 |
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for-Loops

The for-loop s = for (e1; e2; e3) s'lis equivalent to the statement sequence
| e1; while (e2) {5’ es; }|— as long as s’ does not contain a continue statement.

Thus, we translate:

A: cod e2 p

code’ s p

coder, e3 p
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